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Instructions

Use black ink or ball-point pen.
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centre number and candidate number.

There are three sections you must answer:

- Section A Questions 1-4

— Section B Question 5 and either Question 6(a) or 6(b) or 6(c)
- Section C Question 7.

Answer the questions in the spaces provided

— there may be more space than you need.

You must not use a dictionary.

Information

The total mark for this paper is 100.
The marks for each question are shown in brackets

— use this as a guide as to how much time to spend on each question.

Advice

Read each question carefully before you start to answer it.
Check your answers if you have time at the end.
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SECTIONA
Reading

Answer ALL questions.
Write your answers in the spaces provided.

Multiple-choice questions must be answered with a cross in a box X If you change your
mind about an answer, put a line through the box 2 and then mark your new answer with
a cross X|. Open-response questions do not have to be written in full sentences and you may
respond using single words or phrases.
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SECTION B
Writing

Answer Question 5 and either Question 6(a) or 6(b) or 6(c).

Write your answers in the spaces provided.
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Indicate which question you are answering by marking a cross in the box X . If you change your
mind, put a line through the box ¢ and then indicate your new question with a cross X .

=== Chosen question number: Question 6(a) [] Question 6(b) [] Question 6(c) []
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TOTAL FOR SECTION B =40 MARKS

J
15

OmCW Turn over »

p 7 2 6 8 3R A 0 1 5 2 0



SECTION C
Translation into Bangla

Write your answer in the space provided.

7 0o @I AT Sgam weAl

Rural Development Academy helps villagers in Bangladesh. It was established in 1973. It
helps to improve the quality of life of people in the villages. This organisation is managed
by the government ministries.

This academy conducts skill-oriented training programmes which include poultry, fishery,
gardening, and irrigation mechanics. Many civil servants, villagers, and unemployed
young people are offered these trainings. The Academy facilitates research projects which
supports unemployed people in new industries. Their campus is equipped with facilities
like hostels, a library, and a conference room for the researchers to use.
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(Total for Question 7 = 20 marks)

TOTAL FOR SECTION C =20 MARKS
TOTAL FOR PAPER = 100 MARKS
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